Frame A

Door Frame

€ =
» 3 = ™
g g - <
3 a g i =
= 5 S 5 % .. <
g 5 § 1| I Yo
s = 2 ® & - o N
o = © o £ %) o Q-
2 e ¥ i L~ & a
(0] . S > —_—
g 2 £ Wl a
m 3 2 Aln_ £3 -
2 & f w <z B3| O ©
$ E 5 W 5 ; 2gi:| 2 z S |-
5§23 < 2 2 Rii:| © o N | &
= X o = T 5 © 95 T [T ~ ™
& S © 5858 .. X g N < L
i 2] Qesgs| W &) Lo | = i
= > Ngff| Oox n © Ex | < wO
o . w - sl B [T < [vp) I
Z < o & < x - §=z& | FO o oo [a] ol 0w
[ _I - a a a a a a
o
o
[ - - a a - - - -
© © © A\ N ™ <
o o O — — — —
oM oM m (O} () () ()
C C C C
Q o) c © © © ©
O o o o o o o
— © et Y— Y— Y— Y—
= o o o o Q 2
= oD e} e} e} e} c
0 o o o =
QN
DX
[72]
3

B

-G OCOOOO

- OCOCOOOO

[}
()]
=
Iy
= X
o
o
0o
m
=
O
o X
I
<
=N
[
o X
I




X3

High Wheel Holder LOCkingg Bar

Low Wheel Holder

Bike Rack Beam A

4

Joining Plate

%]

- . .
Bike Rack Beam B

o]

= s - =

Lock Cover Plate

Locking Rod X2

Lock Assembly

Exernal Handle

NOTES: (unless otherwise specified)

1. All dimensions in MM

2 Deburr and break all sharp edges
3. MATERIAL:

4 FINISH:

REVISIONS:

T: 0208 699 1338  E: info@cyclehoop.com
Copyright © 2016 Cyclehoop Ltd.

AAAAA
Prior

TITLE:
Bike Hangar Parts List

DESCRIPION:
Bike Rack & Lock

DATE:

05/02/2016

DRAWN BY: REV:
T |
SHEET: SCALE:

20F 3 1:10 AT A3




M12 X 60
HEX BOLT

X2

M12

NYLOC NUT

X4

M10 X 65
MUSHROOM HEAD

COACH BOLT
M12 X 30 M10 X 30
HEX MUSHROOM HEAD
SET SCREW COACH BOLT
X4 X4 X4
M12 M10 M10
HEX NUT HEX FLANGE HEX SHEAR
NUT NUT
@
|\
N
X4 X37 X20

M10 X 20 M10 X 20
MUSHROOM HEAD HEX
COACH BOLT SET SCREW
X27 X16
NYng;ON T HEX IML?ANGE
J NUT
@)
N/
X4 X60

M8 X 20
MUSHROOM HEAD
COACH BOLT

X60

M8
RUBBER
WASHER

©

X60

M6 X 12
BUTTON HEAD
SOCKET SCREW

w

X10

NOTES: (unless otherwise specified)

1. All dimensions in MM

2 Deburr and break all sharp edges
3. MATERIAL:

4 FINISH:

REVISIONS:

T: 0208 699 1338  E: info@cyclehoop.com
Copyright © 2016 Cyclehoop Ltd.

TITLE:
Bike Hangar Parts List

DESCRIPION:
Fixings

DATE:
05/02/2016

DRAWN BY:

REV:
7 |

SHEET:
3 OF 3

SCALE:
1:1 AT A3




	Frame
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View13
	Drawing View14

	Bike Rack & Lock
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View27

	Fixings
	Drawing View38
	Drawing View39
	Drawing View40
	Drawing View41
	Drawing View42
	Drawing View44
	Drawing View46
	Drawing View47
	Drawing View48
	Drawing View49
	Drawing View50
	Drawing View51
	Drawing View52
	Drawing View53
	Drawing View54


